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- Fy�·�� + R21·hR21 = 0. 
 

������ 
 

 R21·hR21 106350  ·  34,73 
F�� = 

OA 
= 

57,1 
= 64636,9 	 

 

����
 �� ������� ���� ��� � 
������� �F 0-1 = 600 	/

, ���������� ����� ��������: 
 

F�� = 107,7 

   

R21 = 177,3 

   

G1 = 0,02 

  �����������
 
 
�� ����� ��� ������ 0-1: 
 

R01= R'01 · �F0-1 = 140,7 · 600 = 84420 	 
 
3.5. ����������� 	�
�����
��
���� ����  �� �����	 �	�������� 
 
	� ������� � �����
����� ����� ����� ��������� ��� ��������� ��������� ��������
 ��� ������� 
����, �������� �� �� ����!� 
�"����
�, ���������� �� 90 �������� �� ������� �������. 

 
#MP(Fi)=0 

 
- F�� pa + Fu2 hu2 + G2 hG2 + Fu3 pb + G3 pb + Pc pb = 0. 

 
������ 
 

Fu2 hu2 + G2 hG2 + Fu3 pb + G3 pb + Pc pb 
F�� = 

pa 
= 

 
98919,6 · 13,9 + 28,4 · 100 + 44388,0 · 100 + 29,4 · 100 + 6556,3 · 100 

= 
100 

= 64742,1 	 

 
3.6. ��
������ ������� 
 
$��"������� �����!����� ����������� F��: 
 

( 64742,1 - 64636,9 ) 
% = 

64636,9 
= 0,16% 

 
4. ������ ���� !"� 
 
4.1. ����������� ���#	��� ����  (����  �
�����$) 
 
&� ������������ ������

� ��������� (���� 1) ��"���
 ������
����� ����� �� ���� p�� = P'(/P
max 
��� ������� ��������� 
�"����
�, � ����
 �����������
 �������� ����� �" ���. 
 
$����!���� ������� ������� ���)��� ����� �" ���: 
 

*  
��������� 

+�. 
��
. 0 1 2 3 4 5 6 7 8 9 10 11 

p�� = P'(/P
max - 0,0 0,005 0,02 0,1 0,25 0,55 0,7 1 0,42 0,2 0,13 0,1

P����. = p�� Pmax ,&� 0,0 0,029 0,116 0,58 1,45 3,19 4,06 5,8 2,436 1,16 0,754 0,58

P���. = P�� 	 0,0327,82 1311,266556,3216390,80 36059,7645894,2465563,20 27536,5413112,64 8523,226556,32

yP 

 0,0 0,375 1,5 7,5 18,75 41,25 52,5 75 31,5 15 9,75 7,5

 
 


